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Environmental microbiology

. Compare the ATP yield, electron acceptor, and final products of
aerobic and anaerobic metabolisms. (18%)

What are the possible reasons for sludge bulking in an activated
sludge systems (10%)

. Compare the differences between the compositions of Gram’s negative
and Gram’s positive bacteria. Why knowing whether the bacteria is

Gram’s positive or negative is important in environmental engineering?
(12%)

. True (correct) or False (wrong) question. (If the statement is correct,
write down (T) in the answer sheet; if the statement is wrong, write
down (F) in the answer sheet. 2% each)

(a) The energy is stored in ribosomes.

(b) Cryptosporidium is a spore-forming bacteria.

(¢) Transforming nitrogen into organic nitrogen is called “nitrogen
fixation”.

(d) Nitrifying bacteria is heteretrophs.

(e) The carbon source of methanogen is CH,.




